FEEY T A % () 24 B
e MATE mst o] #* = HE — H RS

(2095 1.3 A B AEM » £ 500 A 900°K g AH°

1
P"J(E) +EDZ{I} = Pbﬂ{,;

Cppby =3.63+2.33x107°T Cal®K (298-600°K)
Cpupqy =7.75-0.74x107T Cal°K (600-1200°K)
C,, 03¢ =716+1.00x107°T-04 x 10° T Cal/°K. (293-3000°K)
Cppbods) =9.ﬂﬁ+6.4x10"3T Cal/°K {2981159°K)
Sos Pbo= — 52400 Cal/mole
AH® pb= 1150 Calimoleat 600°K
To o = 600°K
T goo = 1159°K

(204 24— BT LM A A-(reverse cycle)s B h(heat engine) + » R —
ERHRERTHMC =25R #ANMK  TwBAEHRFIHEE 30K
B S00°K hig iR A AL latm & 2atm &) %1848 42 A
(8) RHHAAIWEEAF—HHAS |
) ZAEA—REAEREESF F D& REHARS - (R=1.9872 Ca/mole.deg)

Qo) 3.—R2AF EHH LA S00C BAEXE ITC AT (RBE dke) -
(8 HARLPHEE
(b) Mi(eatropy)sh L ¥
Coome = 4184 Jigm K
Cpatoy =22 Jgm K

(104) 48T RCF 5 35K th b Mi(entropy) H @) 55 RUF-3H 1 » 3634 b A%
HER
(@ C,+Mg0,~Mg,+C0O,
(b)  Co+ Oy~ Clyy
(© Ci+Si0y,=Si0 g +CO,,




N L

S L ! :ﬁ(ﬁﬂw
+8_ AL M 3(0] 3 = FEE = B GBS

(@)  Zrg+ Oyp=Z10y,

(10%%) SAERURTF S HA R #E - #Hientropy) A % (enthaipy) B ¥

£5 #H2C0)
Zn 419
Al 660
Cu 1083
Ni 1453
Ti 1668

(207 6. (T AEME POHER - 52K K& Tperitectic reaction) &
4 Ts(eutectic reaction)ily K& =,
(b)8 i 4 T, » T, » T, 8)AG™(free energy of mixing) — C%(# )
)Rk a, Rap T T, ,REGLHUBE -

AN
( YA

¥
X




